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(3 Hours)[MODEL ANSWERS] [Total Marks: 80]

N.B. : Q) Question No. 1 is compulsory.

(2) Solve any three questions out of remaining questions.

3) Assume suitable data if required.

1. (a) Discuss any five CSS text properties. 5
Ans: text-indent, text-shadow, text-wrap, word-break, word-spacing, and word-wrap.

(b) Explain the for loop used in PHP. 5

Ans: Loops in PHP are used to execute the same block of code a specified number of
times.

a for — loops through a block of code a specified number
of times.

The for loop statement

The for statement is used when you know how many times you want to
execute a statement or a block of statements.

for iterating_var in sequence
statement{s}

Syntax

for (initializatian; condition; imcrement){
code to be executed;

¥

The initlalizer Is used to set the start value for the counter of the number of
loop iterations. A variable may be declared here for this purpose and it is
traditional to name it Si.

Example

The following example makes five iteratlons and changes the assigned value of
two variables on each pass of the loop —

<html>
<body>

This will produce the following result —



youn-
suods||epos| ysibug|AloisiH| [eldos
SINOH
SHV|Sylen | 20UBIDS| SYlIB |2JUsIdS
1 nyr | pSm onl UoORn
ojgel swlL
01 :3]qE) SUIMO][0F SY3 MEIP 03 9pd TALLH MM (Q)

-awIR JURLIND 3yj 0} urpIodde

WSIN POOS) 10 LOOUIdYY POOS) ‘SUILIOA POOD) se a3essaul B SMOYS urez3o1d Suipasaid ayf

LIYBLN po03,, =X

. <LdTYDS/>
$(x)3J3(®

ast?

}
{

,HO0UUdILY pooo, =X

}

(LT>swr3aj 4L as|s

‘wbutuaow poog,=x

t()sdnoHi1ab" Oeaeg

:amoj[oJ ST St 1({;_1351’..\!:]' LT JUIWILIELS 1 9} JO asn oy ANensuow

{
}

(ZT>2wi1) Jt
M3U=3WLY) JeA

. win=X JBA

<1ldIddS>

U1 JUaWIYEIS JT AU} JO SN A RLASUOWIP 03 3dingeae| up wesSoud o

Op ap weadoad v

adungeaef MLIAL
(suy
01 1duageAr( Ul Juswiaiess /i ayp Suisn £q Awi) JUSLIND 3y} 03 SUIPIOIIL JYSIN

pOOD) 10 UOOUIdYY POOD) ‘FUIUION POOD) sk 35essaw e smoys jey) weigoxd e 11 (B)

"x0q Surpuedxa pue azIs JU0J ‘SIu0J
‘BulIopU] JU0J 1ap10q ATeWI ‘BULISPUII AFeWL ‘SIADUIISISUODUY SISPIO /SUIBIRIA] :SUY
S ‘sansst A11j1qiediiod J9smo1q SS0I9 uowwod urefdxa pue isi (p)

‘(sysanbar otureusp) awreu wersord jeurazx?
10 [EWRAIUT St [[aav ST (sisanbar onels) 321n0sa WaisAs 1Y [Lao] e 0 TIN dewr 01 9Iq¥
“YIOA\ISU [B20] 2AIAS 0] STEI-G2A “SIANOI ‘SIANULIA JYI] SAOIAAP UT PAppPaquis puno

Ama 24135 0 uonedrjdde gamsa)Isga SISO

“(uoneorjdde 1anduron) 2IeAMJ0S 341 10 (19)ndUTod) SIEMpIeY St PALIBIAI 3q UED 1]

‘dL1IH
Suisn s1ua1pd woly sisanbar uo sa5ed qam ISAIRP 01 ST IPAIIS ¢om B JO Uonouny Arewrad oy f

Suy

“10AJOS QoM B Jo suonouny ayy urejdxy (9)



Science|Maths |[Science|Maths

Project

Social [History|English |Social

Ans:
<HTML>

<BODY>

<Font Face = "Verdana">
<TABLE style="border-collapse: collapse;" Border = "1" Cellpadding = "5" Cellspacing ="5">
<TR>

<TH Colspan ="6" Align = "center">Time Table</TH>
</TR>

<TR>

<TH Rowspan = "6">Hours</TH>
<TH>Mon</TH>
<TH>Tue</TH>
<TH>Wed</TH>
<TH>Thu</TH>

<TH>Fri</TH>

</TR>

<TR>

<TD>Science</TD
><TD>Maths</TD>
<TD>Science</TD>
<T'D>Maths</TD>
<TD>Arts</TD>

</TR>

<TR>

<TD>Social</TD>
<TD>History</TD>
<TD>English</TD>
<TD>Social</TD>
<TD>Sports</TD>

</TR>

<TR>

<TH Colspan ="5" Align = "center">Lunch</TH>
</TR>

<TR>

<TD>Science</TD>
<TD>Maths</TD>
<TD>Science</TD>
<TD>Maths</TD>

<TD Rowspan = "2">Project</TD>
</TR>

<TR>

<TD>Social</TD>
<ID>History</TD>
<TD>English</TD>
<TD>Social</TD>

</TR>

</TABLE>
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Ans:

The PHP Date() Function

Example

Run this code »

The PHP time() Function

Example

Example

The above exanplz Broduts S

Ans:String manipulation functions:
count_chars(), echo(), fprint(), etc.

Run this code »

Run this code »

Glowing ouipul

bin2hex(), chr(), chunk_split(), convert_cyr_str_string(),
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The ADONET Object Modei

Data Provider

DataAdapter

f
| Comnection ‘ Command _‘_l

| ¢

R R S

Before working with a database, you have to add (here) the 01eDb NET Data Provider namespace, by placing the
following at the start of your code module:

using System.Data.(0l=Db;

Similarly for the sqlc¢lient .INET Data Provider namespace:

Jasing System.Data.5qlClient;

The using statement should be positioned first in your code.

Nowe, we have to declare a connection string pointing to a MS Access datebase "PersonDatabase.mdb’.
PHax
atblic string

conString=@"Provider=Microsoft.Jet.OLEDB.4.0;" +
@" DataSource=..\\..\\PersonDatabase.mdb";

The database should be in the specified path, otherwise you should change the path accordingly.

The next step is to create an 01eDbConnection object. We pass then the connection string to this
0ledbConnect ion object. You can code now to create a new ADO.NET Connaction cbjact in order to connect
to an OLE DB provider database.

tiice Tapyelaat

OleDbConnection con = new OleDbConnection(conString);
You can also explicitly reference declared objects if you don’t mind typing a lot.

Hids  Topy Tz

System.Data.0leDb.0leDbConnection con =
new System.Qata.OleDb.OleDbConnection(conString);
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try

DataSet changes = dataset.GetChanges();
con.Open();
datapter.Update(changes);
con.Close();
datasetl.AcceptChanges();
}catch (Exception ex) {
MessageBox.Show( ErrorR: " + ex.Message);
datasetl.RejectChanges(};
con.Close();

L
(b) Explain different types of XSL elements. 10
Ans:

Contents .
Standard XSL Elements
¥staphhveimports: “

Lappl

xsl.document

xsl:apply-imports

The xsl:apply-imports element Is used in conjunction with i There ane no ZiHESES. The slement may contain zero of more xslwith-param elements {(as permitted in XSLT t 1)

Atrunibms: theerust be 3 cunsnthaaliss A cutrentlemolets 1§ established When & femiplate =a2ivae a1 a reswt of a call on xs! apply Calling xsl call does not change the current
temalate Cailing > foreash dess metia 1he XSLT stngdsm svs it should) Tauss the sumeny STRlas 10 Cecome null,

The effect is to search for a lempiate hal ma:ches lhe current node and that 1s defined in 2 sty that was il {drectly or indi y, possibly vis xs| include) from the stylest.est containng the
current templale, end whose mode matches the current mode If there is such a templsle, it is activated using the cument node If not, the call on xs!:apply-imports has no eifect

it 15 not possible to supply parameters to & templale 1voked using xsi:appty-mports,

xsl:apply-templates

The xst:epply-templates element causes nevigation from the current element, usually but nat necessarily to process its children. Each selected noce s processed using the bisst-matsh xsl:template defined
for thet node

The xal:iapply-t=mpiatés element takes an optional atiribute, mode, which idenlifies the processing mode. If this attribute is present. only with a ing mode will be i d when
searching for the rule 1o apply to the salected elaments.

It sisig pekes, an spimnal Atnsde. selest

I the select aitribute is amitied, apply-temp! causes afl lhe i children of the current node to be prixessss that is, child elements and character comtent, in the order in which it appears
Cheracter contenl must be proressed by a template whose metch pattsim will be something Ike ~text()® Child elements similasty are 1 using ths appropri selected according to the
ruies given below under yiitamripia;

1f the select attnbule is included, it must be a node set expraspan which idenhfies the nodes tb be processed. All nodes selacted by the expression are pracessed

xskattribute

The xsl:athiibute element is used to add an aiinbute value to an xsl:element elomant or general formatiing elemant, or to en element creaisd UsING xal:copy The attribute Must be oulput immadktily after
1he element, with no intetvaning character deta The nema of the altribuie s ndiceled by the neme atribute end the velue by the content of the xst:atiributa element

The aitnbule neme is infarpetd &S an attnbufe value-taati, SO d mey contain sting expressions within curdy braces. The full syntax of sing Sxiressions 1S gven N XEAM Eaommasing Swlar
For axampie, the following code creates 8 <FONT> element with several atirbutes:

There are two main uses for the xsli:attribute element:

« [tis the only way to sel ettributes on an element genarate:s dynamically using xstelement
o || alows allrutas of 8 Heral resull element 10 ba zalt:idated using xsivalue-of.
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The element Selector

» ThejQuery element selector selects elements based on the element name - You can select all

elements on a page like this: ${"p")

» Example: When a user clicks on a button. all
elements will be hidden:

s Example

\${document).ready{functionr(){
\$("button”).click{function(){
$("p").hide();

ritute of an HTML tag t¢ find th
sc you should use the =id selecic

0

- The 1Query #id select
- &r ic should e unigue
ingle, unigue element.

- To find an element with ¢ speci€ic id, write a rash character, folloued by the {2 of “he HTWL elem
ent:§{"#test")

- Example: when a user clicks on a button, the alemert with id="Yest" i1l b2 'idizn

_‘

- £xamplie
\${document).ready(function{){
A\S{"button”).click{furction{1{
\$("#test”).hide();

1
1

#*The .class Selectar~t
- The jQuery class selector finds eierente Lith & specific class.

- To find elements with a specific class, write & period cnaracter, followed L' tTh2 rame ¢f the <las
s:%5(".test”) :

» Example: When a user clicks on a button. the elements with class="test” will be hidder
¢ Example

\$(document ). ready (function(){
\$("button"). click(function(}{
i \$(".test”).hide();
ol
s

JQuery for Form Validation:
Step 1 - Include the latest veision of the jQuery Library.

/fhosted by Microsoft Ajax CDN

<script src="http://ajax.aspnetcdn.com/ajax/jquery. validate/1.9/jquery.validate.min.js"></script>

Step 2 - Download the jQuery Validation Plugin.
Step 3 - Add the following JavaScript validation 1ules re you: webpage (or inciude as separate js include).

The code below contains the input field validation rules for the form and also inciudes a direct submit handler (works

for mutiple forms on same page).
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The init() Method

The init method is called only once. It is called only when the serviet is
created, and not called for any user requests afterwards. So, it is used for
one-time initializations, just as with the init method of applets.

The servlet is normally created when a user first invckes a URL corresponding
to the servlet, but you can zlso specify that the servlet be loaded when the
server is first started.

When a user invokes a servlet, a single instance of each servlet gets created,
with each user request resulting in a new thread that is handed off to doGet or
doPost as appropriste. The init!} method simply creaties or loads some data
that will be used throughout the life of the servlet.

The init method definitior looks tike this —

¥

The service() Method

The service() method is the main method to perform the actual task. The
servlet container (i.e. web server) calls the service() method to handle

requests coming from the client( browsers) and to write the formatted
response back to the cliznt.

Each time the server receives a request for a servlet, the server spawns a new
thread and calls service. The service() method checks the HTTP request type
{(GET, POST, PUT, DELETE, etc.) and cails doGet, doPost, doPut, doDelete, etc.
methods as appropriate.

Here is the signature of this method —

public void service{ServietRequest request, ServletResponsz response)
throws ServletException, ICEsception {

}

The service () method is called by the container and service method invokes
doGet, doPost, doPut, doDelete, etc. methods as appropriate. So you have
nothing to do with service() method but you override either doGet() or
doPost() depending on what type of request you receive from the client.

The doGet() and doPost() are most frequently used methods with in each
service request. Here is the signature of these two methods.
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Ans:

Architecture Diagram

The following figure depicts a typiczl servlet life-cycle scenario.

rt
=
a4l

First the HTTP rsgussts ceming 10 the server are delegated to

servlst container,

The servlet contziner lcads the servlet before invoking the service()
methed.

Then the servlet ontziner hencles multiple raguests by spawning
executing the service(} method of a

11]
o
(@]

multiple threads, eack thr

single instance ot the seryviet

2

| Java virtwal machine

Serset

———— — —

a4 )

Serviet . Thread By servicef)

Container —— v
¥ Thraad 5y )
T destroy{)
> — - -
% & & . T
-___T—- . . b4 —— e ———

Renests o thz serd=i containe

Webh Sernvel

Write short notes on(any four): 20

(1) Three-tier architecture of web application
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(ii) Website design issues

Ans)

» Simplicity: Considering from a layman user, web site should be build to make it easier for user to use it. Web site
might have information, piciuies, effects. etc. This makes the website design enormous and it should be avoided

¢ Identity: Every web site should have its identity. Websites are categorized on various factors, considering their
objective, category of users, etc.

e Consistency: The contents of web application should be consistent. There are various properties of a content of
web site like text formatting, font style, colour scheme, Navigation mechanism, graphics design etc. It should be
identical in all the pages.

® Robustness: Tie failure ar rrissing of ars fupctisnality i aweb Ste disappoints 3 user, User expacteiobust
contents ana functions of web application.

* Navigability: The navigation helps to move from one page to ancther. It shoutd not he complex to make it difficult
foriay man user. A developer should deploy predictive navigation functionality.

* Visual Appeal: A Web site should be able to attract more number of users. This can be achieved by implementing
dynamic and attiactive graphics in a web site. Tne factors include Look and feel, interface layout, colour co-
ordination, balance of text, graphics and other various media.

» Compatibility: A web site shouid be build in a such a way that it should be implemented in various environment
and configurations such as different browsers.

(ii1) PHP and MySQL database connectivity

Ans:

PHP Connect to MySQL

PHP 5 and later can work with a MySQL database using:

* MySQLi extension (the "i" stands for improved)
« PDO (PHP Data Objects)

Earlier versions of PHP used the MySQL extension. However, this extension was
deprecated in 2012.

Should 1 Use MySQLi or PDO?

If you need a short answer, it would be "Whatever you like”.
Both MySQLi and PDO have their advantages:

PDO will work on 12 different databasa systems, whereas MySQLi will only work with
MySQL datebases.

Sa, if you have to switch your project to use another database, PDO makes the process
easy. You only have to change the connection string and a few quertes. With MySQLi, you
will need to rewrite the entire code - queries induded.

Both are object-oriented, but MySQLi also offers a procedural API.

Both support Prepared Statements. Prepared Statements protect from SQL injection, and
are very important for web application security.



(()4097398UL0D ibsAW ¢, 1PIjIR) UDPIULOD aseqeied,)aIp
} ((uows pauuos ybsiw) 41
uaIPBUUOD X22YD //

:peaisul apoo BuImojjo) 3y Bsn ‘0°E’S pue
6-T'S 03 Joud SUOISIBA dHd Yum Axprqueduwsod ainsus o3 pasu noA 41 'Q°€'S PUR 6°C°S
dHd IRUN UX01Q SBM JOLIBTPBULDIS aA0qe Bldwexd pajusuc-139iqo ayy uo 310N

jobenbue) sejndod pue bujzewe ue si dHd

£(JOJUR 2IVWUEIC-ULE3E 1 | (PRT1RY UeT1DABUED, Y310 ;
} (JouurT3380U0d¢-uLod8) 5T |

4BTIIBLUED »33uD

¢ (paomsseds ‘puEUISSNE aweu.ss28sg) TILE AW Mau = uLod

[ IR I T

aTOUTENDT, = BWeUsEAd3SE |

(PaUBLIN-123(G0 NDSAN) 2(duiex]

BCINE
53 0) 398LUCT & F|YE 3Q O} Pasu am ‘aseqelep TOS AN SUY Ul BIEP SSIIIE ULD M 300438

TOSAN 01 uondauuo) e uadQ

mUR T IO IO FUS S FUR TR I L 0 ’5,iE38P UL RIS J0d

uonejeisu] 0dd

‘paiEIsul s 3EPyIRd DA U STUT LEYM
reaeon 150US 1 DA EYSU AIEIBEWOINE S UOSUEIAa TTOS A UL ISMOPUIW pus in i0d

uone(eisuj MOSAN

0Gd -
(1eanpad01d) NOSAW «
(payusus-223(qo) mDSAK -

IDSARW
pUB dHd UM BUDpOm JO SABM B2JUl 21RNSUOWSP M s32)deyd BuImo o By Ul pu syl U]

xejuks Oad pue MOSAN yiog ui sajdwex3 JOSAN



Example (MySQLI Procedural)

i
$servernzme = _olalhost g
Jussrname = N

$

name” y

FasSwlid = [arsphid 5

3%e tonrectls

sees = len
1F [1gzenn) |
cief"Conmeonion faflosr " . mysqli conrsczerrar()};

e ————— o — e e

Teasr }

Sussrnsme < “usdrrare™;

HaaE 4 B o
Sogssntnd = TDal wind .

)

ApETEWDrd);

=T e FOU erro” mode to excaptian

e L bkt T

echo "Conmecven sugoess~ully T
cetoh (PDOException $e)
{

echp “lemnsction failed: © | Se->getMessage();

}

S o Y s i 1 A

fcan = nzw FIO("mysalihest-fservername jdbname=ayDE ;. Susername,

Finnr-ssatATTr IDuTe(PDO: s ATTR_ERRMODE, PDO::IERRMODE EXCTETION):
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(v) Use of RSS web feeds

Ans: RSS is one of the web feed formats which keeps you updated of the changes occurring in
selected website. A web feed provides regularly updated content of a web page. It is a document
(mostly XML-based) comprising content along with web links. Web feeds are designed in such a
way that is machine readable (computer) instead of human readable. RSS also contains XML
document that frequently scans the website’s content for any update and then displays it to the
user through feed. The update this is sent contains a headline and small amount of text. The text
may be a summary or link to the whole text.







